§5 {REHRERER
£99 HEHF BEERE) KRAIXMGRELER

FR314E3A31HRAE

= ~ ~ ~ ~ ~ ~ ~ ~
) R R AT o |10 |som |28 | o8 | som | com | vamh e | e
— st 11| 66| 538 889 1.401| 1,460 1,463] 853 2,068 8,749
1[¥k H il PE i * i JiE 0 0 1 1 4 4 4 1 2 17
2| i PE 181 £ il & JiE 0 0 0 0 5 10 28 14 25 82
3= B e i e JiE 1 0 0 2 1 1 1 0 2 8
4| b1 {ic {0l ES T 1k JiE 0 0 0 0 0 0 0 0 0 0
5 | T e 23 e JBR Jii 0 0 0 0 0 1 19 17 62 99
6% — * v N ] 0 0 0 1 14 69 184] 218 760| 1,246
U P TSN~ SRS S : M E 0 0 0 0 0 1 8 5 27 41
8| N v g v iz} 0 0 0 0 3 2 2 3 0 10
9 |4 % H ik Ui il Bk JiE 0 0 0 0 0 0 0 0 0 0
0y » » 2 — <~ U - Py o— X UH 1 0 0 0 0 0 2 1 0 4
11|& it i e 7 JiE 0 4 9 16 32 39 49 24 64 237
12 % PN P it} 3 7 SiE 16 Fisa 0 0 0 0 0 0 0 0 0 0
132 % M @ 4 E  #H M &R F B £ 0 i 13 33 56 56 26 8 13 206
14 (18 11 2 R ME B BEME 22 Je b it 2/ 2 B B = 2 — X T — 0 1 2 1 5 10 5 4 5 33
15 & A % i} X% 0 0 0 0 0 0 0 0 3 3
167 = v 7S W SiE 3 Fisa 0 0 0 0 1 1 1 0 0 3
171 H i % i JiE 0 0 0 0 0 13 29 11 35 88
I8(% B /N W & MEE (2 R M FE M E & B <, ) 0 0 4] 12 22 28 50 31 82 229
1917 A v ) UN iz} 0 0 2 5 2 2 2 1 0 14
20180 % A & ¥ A b w7 o4 = 0 0 0 1 1 2 0 0 0 4
21 k a v K v 7 iz} 0 0 1 5 2 3 2 2 3 18
221H X ) ° bz} 0 5 10 15 26 32 8 6 6 108
237 ) %+ N iz} 0 0 0 0 0 0 0 1 3 4
24 | = P fifE 1t PE 4 Jibd X% 0 0 0 0 0 0 0 0 0 0
251 1 0 £ B I 7O E 0 0 0 0 1 0 0 0 0 1
26 [HTLV-1 3] H il JiE 0 0 0 0 0 1 2 1 3 7
27 % % Pk K B Kb iE 0 0 0 0 0 0 0 0 0 0
281 & M 7 I v 4 K = ¥ A 0 0 0 0 1 4 3 5 7 20
29| S v > = iz} 0 0 0 0 0 0 0 0 0 0
30 |5z fir it} N %+ 73 ¥ — 0 0 0 0 1 0 1 1 0 3
31|~ 2 L 2 2 i 23 ¥ — 0 0 0 0 0 0 0 0 0 0
2B & A & %= MmO EA N 0 0 0 0 0 0 0 0 0 0
33y =2 v o v Y o N E OB 0 0 0 0 0 0 0 0 0 0
34 |4f % i biid i JiE 1 1 2 6 6 8 2 2 3 31
35X i) & 0 0 1 0 2 2 7 6 3 21
36 |#& )id VIS i) JiE 1 0 0 1 1 0 0 0 0 3




